08:06:06] EUGEINE, OR

DISC ONE

SET ONE*

O1INTRO 1:54

02 | SAW THE LIGHT 4:57

03 POOR WAYFARING STRANGER 7:59
04 BLACKBERRY BLOSSOM 10:32
05 PANAMA RED 4:33

06 DUNCAN AND BRADY 7:54

07 EAT MY DUST 6:38

08 I'VE JUST SEEN A FACE 3:47

09 ROCKY ROAD BLUES 7:04

10 SHENANDOAH BREAKDOWN 4:17

WO
01100 YEAR FLOOD> 14:19
02 HOW MOUNTAIN GIRLS CAN LOVE 3:02
03 YO SE' 8:03
04 BARSTOOL &:14
05 CEDAR LAURELS 8:16
06 SHAKIN' THE TREE 12:13
07 'ROUND THE WHEEL... 16:34

* features Todd Sheaffer (quitar), Tim Carbone (violin), John Skehan (mandolin),
Andy Goessling (quitar), Carey Harmon (percussion), Johnny Grubb (bass)
(all from Railroad Earth)

08:06:06] EUGENE, OR

DISC ONE

SET ONE*

01INTRO 1:54

02 | SAW THE LIGHT 4:57

03 POOR WAYFARING STRANGER 7:59
04 BLACKBERRY BLOSSOM 10:32
05 PANAMA RED 4:33

06 DUNCAN AND BRADY 7:54

07 EAT MY DUST 6:38

08 I'VE JUST SEEN A FACE 3:47

09 ROCKY ROAD BLUES 7:04

10 SHENANDOAH BREAKDOWN 4:17

DISC TWO

SET TWO

01100 YEAR FLOOD> 14:19

02 HOW MOUNTAIN GIRLS CAN LOVE 3:02
03 YO SE' 8:03

04 BARSTOOL 6&:14

05 CEDAR LAURELS 8:16

06 SHAKIN' THE TREE 12:13

07 'ROUND THE WHEEL... 16:34

* features Todd Sheaffer (quitar), Tim Carbone (violin), John Skehan (mandolin),
Andy Goessling (quitar), Carey Harmon (percussion), Johnny Grubb (bass)
(all from Railroad Earth)
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results), and you MUST make sure that the PAGE SCALING option is set to “NONE”. If you have PAGE SCALING set to “Fit To Printer Margins” or “Reduce to Printer Margins”, the graphics will not print at the correct size

for the standard jewel case. This is the most common problem people have when they complain about the artwork not fitting the jewel case! You can order Neato Labels from www.neato.com!
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